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ALLEN

SUBJECT : PHYSICS

Topic : Full Syllabus

L

SECTION-A
Attempt All 35 questions

1.

Force F is given in terms of time t and distance
X by
F = AsinCt + BcosDx

A C
Then the dimensions of B and D are
given by :-
(1) MLT?, M°L°T!

(2) MLT?2, M°L'T®
(3) ML'T, M°L'T!
(4) M°L'T!, M°L°T®

A particle is thrown above, then the correct v-t

graph will :-
Vi vk
(1) @) m
t ¢
va v
o |/ @ U
—1 —;

A particle is projected with velocity 50 m/sec
at angle 37° with horizontal, then change in
velocity of particle from point of projection to

just before striking ground is :-
(1) zero (2) 60 m/sec

(3) 80 m/sec (4) 100 m/sec

(

qus-A
aeft 35w rfaard §

1.

AT S F bl @ t S x o Hoo o &9 H
FHieRToT § Tef3id oid 2l
F = AsinCt + BcosDx

a‘r%aﬁt%sﬁﬁmsﬁﬂﬁ:-

(1) MLT?, M°L°T'

(2) MLT?, M°L'T®

(3) ML°T’, M°L'T!

(4) M°L'T!, M°L°T®

Teh U1 ST hT 3T ShehT STTaT 1 Sarsy foh fr &
el v-t AT 4T @TlT”

Vi vk

(1) )

Vi vk

3) /\ (4)

t

t

TF FT H AT § 37° HU I4d g
50 m/sec % I ¥ yaAfyg frar Sar %,
@ Ig9 farg ¥ AFHT 99T UL THUT

98d dF T gfeada grme
() I3 (2) 60 m/sec

(3) 80 m/sec (4) 100 m/sec
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ALLEN
4.

If a body of mass m is carried by a lift moving
with an upward acceleration a, then the forces
acting on the body are

(i) the reaction R of the floor of the lift upwards
(i) the weight mg of the body acting vertically
downwards. The equation for motion will be

given by

(1) R = mg—ma

(2) R = mg+ ma

(3) R = ma—mg

(4) R =mg Xx ma

A vehicle is moving with a velocity v on a
curved road of width b and radius of curvature R.
For counteracting the centrifugal force on the

vehicle, the difference in elevation required in

between the outer and inner edges of the road is :
(1) v*b/Rg (2) vb/Rg
(3) vb*Rg (4) vb/R’g

In which of the following cases, the centre of

mass of a rod may be at its centre ?

(a) The Ilinear mass density decreases
continously from left to right
(b) The linear mass density increases

continously from left to right

(c) The linear mass density decreases from left
to right upto the centre and then increases

(d) The linear mass density increases from left

to right upto the centre and then decreases

m EsIWT o fUve TH fawe § @
g ST 'a' TIHIN W FHIL H AT S
TE 21 fUve 9T wrd w1F ard 99 €
(i) fave & gfafrar R F9T f anz
(ii) fUvg &1 WM mg Fw@rgr =
F M a9 1l F T aH wdrwEw
am

(1) R = mg—ma
(2) R = mg+ ma
(3) R = ma—mg
(4) R =mg X ma

U JTeT b SR q9T R FghdT BrsaTm it U a6
UeH W v AT W i 2l aeT W & aTred
HIF5 o Bl Gid B b [T FSF
ATANE o el foha’l st S8 0 fohamT 31T
BT 1T 2

(1) v*b/Rg (2) vb/Rg

(3) vb*/Rg (4) vb/R’g

Frefafaa 9 & o Rafeet 9 o 93 &1 soomm
% T heg Wl TehdT 2 2

(a) T 39U oFcd fFeaX it @ @it 3R
e 2

(b) T FAH o et oiU & gt 31
e 8l

(c) T Soom ocd 9T & SRt 3R g d%
HEAT & a7 fht sedn 2

(d) T g9\ e ¢ § SR IR Feg dh
STqaT & qeiT fO srear Bl

(1) a,b (1) a,b
(2) c,d ) c,d
(3) b,d (3) b,d
4) a, d 4) a, d
[ SAMPLE PAPER # 01 1001CMD302122001
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ALLEN

A track is mounted on a large wheel that is free 7. Teh I &l sgd El% e o enfuq forar %,
to turn with negligible friction about a vertical ST 0 YT o HTY A &7 o qia: ‘E{\Uﬁ%%ﬁ
axis (Fig). A toy train of mass M is placed on a4 g (fea)l M 59 areft wa Raeftan 27 uy
the track and, with the system initially at rest, 9 @l §'§ 2 3 ey | feem %, 2‘*[ EA)
the train's electrical power is turned on. The ﬁ%\l}f 3?1‘1\3? RIS DN & STt 2 ?H 9 & GIUeT v
train reaches speed v with respect to the track. T ITH L AT 21 TS Uity T S0 m 8 a9
What is the wheel's angular speed if its mass is THeh! Brea R 2, 1 ufed Y shiofier =me fohat 22
m and its radius is R? (Treat it as a hoop, and ESEIRCKEERIEE SIS E I ‘513’ qoT dTSET A
neglect the mass of the spokes and hub.) Wﬂmﬂﬁ'&)
S\ 272 W 27>
| = = | =
r—/ = =
S5 > S
‘% :
v v
O Mm+nHrR @ m/M+ DR
v v O ™Mm+rDR @ m/MTR
G M/m+2)R @ m/M+2)R v v
G M/m+2)R @ m/M+2)R
One circular ring and one ciruclar disc, both arehaving | 8. T% JQIHR I@d T JAHR Fwdl aHT
the same mass and radius. the ratio of their moments SSIHE U Brsard ga 2 37@5 qdl & SLEERE
of inertia about the axes passing through their centres Td Fear ¥ ‘\)IH@ Tl 3T o UNa: Secd aTEE'\Uﬁ
and perpendicular to their planes, will be :- ST AT T -
(H 1:1 (2 2:1 3)1:2 @) 4:1 (H 1:1 (2 2:1 3) 1:2 @) 4:1
. : dA 9. ] dA
In planetary motion the areal velocity TS e fd § TRt we @ s o )
of position vector of a planet depends on I T o amu‘sﬁagfﬁaj r W it a2
angular velocity () and the distance of the e arey ¢ -
planet from sun (r). If so, the correct relation
for areal velocity is :-
dA dA dA dA
1) — « 2) — « o’r 1) — o« or — % o
SR @ % < ° g e a O
dA dA dA dA
3) — 4) — o« /or 3) — « or’ — x ,/Or
S @ G < Ve @ G = i <V
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10.

11.

12.

13.

ALLEN
10.

The gravitational potential due to earth at
infinite distance from it is zero. Let the
gravitational potential at a point P be -5 J/kg.
Suppose, we arbitrarily assume the gravitational
potential at infinity to be +10 J/kg, then the
gravitational potential at point 'P' will be :-

(1) -5J/kg (2) +5J/ke

(3) —15J/kg (4) +15 J/kg

Water flows through a frictionless duct with
a cross-section varying as shown in figure.

Pressure P at points along the axis is

represented by

PA PA
3) e 4) ‘ AVA
A layer of glycerine of thickness 1 mm is
present between a large surface areca and a
small surface area of 0.1 m”. With what force
the small surface is to be pulled, so that it can

move with a velocity of 1 m/s ? (Given that

coefficient of viscosity = 0.07 kg-m ' ™)
(1) 70N @) 7N
3) 700N 4) 0.70N

A metal wire (Y =2 x 10" N/m?) whose radius is 0.5

mm can bear maximum strain of 10~. How much

11.

12.

13.

qeall o 0T SEE A gl I el o
&1 AT fopelt forg P o et farsa -5 J/kg 2
a Sl foh &0 fossh &9 8 3 W Teed g
fova +10 J/kg 7 Id &, a1 foreg P! W e T
[ERCEHIES

(1) -5J/kg (2) +5 J/ke

(3) -15J/kg (4) +15 J/kg

forelt efurEie eft, forrsht st shre femmgar
it & @1 2, ¥ S yafed ar 21 e %
3rgfent forgert W e P o1 uied et aon ° 9
ERE RGN GRE RIS T

PT P;T.
(€) — (4) ‘V
1 fieft At e it vk W U o U8 and
Td 0.1 W A% % U BIe I8 & i ford Rl
fohe oIt & BIC I8 1 WieT ST a1k a8 1 Hy/|
o T Y AT Lk 2

(T 2 FoR T ToTiek = 0.07 foRam - H 1 &)

(1) 707 (2) 77

(3) 700 =T 4) 0.70 7T

0.5 mm a1 1 Tk A HAR (Y =2 * 10" N/m?)
AferehaH foeRfd 107 T o TehdT g IR § STTaewaH

maximum weight can be suspended on the wire :- ToRaIT ST R T ST Tkl -

(1) 100N (2) 137N (1) 100N (2) 137N

(3) 125N (4) 157N (3) 125N (4) 157N
| SAMPLE PAPER # 01 1001CMD302122001
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14.

15.

16.

17.

18.

ALLEN

A gas at the temperature 250 K is contained in a
closed vessel. If the gas is heated through 1K, then

the percentage increase in its pressure will be—

(1) 0.4% 2) 0.2%

(3) 0.1% 4) 0.8%

At constant pressure hydrogen 1is having
temperature of 327° C. Till what temperature it
is to be cooled so that the rms velocity of its

molecules becomes half of the earlier value :-

(1) —123°C (2) 123°C

(3) 150°C 4) 0°C

When an ideal diatomic gas (y = 1.4) is heated
at constant pressure, what is the fraction
(approximate) of the heat energy supplied

which increases the internal energy of the gas?

(1) 02 (2 03 (3) 05 (4) 0.7

An ideal gas expands isothermally from a
volume V, to V, and then compressed to
original volume V, adiabatically. Initial
pressure is P, and final pressure is P;. The total

work done is W. Then
(1) Py>P,,W>0
2) P;<P,W<0
3) P;>P,,W<0
4) Py=P,W=0

A Carnot engine takes 3 % 10° cal of heat from
reservoir at 627°C and gives it to a sink at

27°C. Then work done by the engine is
(1) 4.2x10°J (2) 8.4x10°J

(3) 16.8x10°J (4) zero

14.

15.

16.

17.

18.

Te 9 foreft oa o 7 250 K a9 T ol g8 21 A
9 T A9 1K T {3 S af 39 21« § gfaerd
afe gl

(1) 0.4% 2) 0.2%

(3) 0.1% 4) 0.8%

fT @rar 4T 327 °C @19 H FIZSA AW
FI fvw a9 9% 3ver frar smu fF sE®
AU FH AT AET A AT UEA ¥ AT
Tg S -

(1) —123°C (2) 123°C

(3) 150°C 4) 0°C

S Uh e [§-UHE T (y = 1.4) &
fraa e o fRar Siar R, @ wem i Y
ST Sl ol THTHIT fehaaT 3191 i 6T =it
Fsll FAGTAT &2

(1) 02 () 03 (3) 05 (4 07
Ush HTEYl 9 o Uged THATYS ThT & V, ¥V,
T JETid Bidl 81 R 38 v, ¥ v, aF &4
TohH H TR ST W a9E R Sar 81 Jfe
gRfteR ST sifam arer shmsT: P, 3R P, qoT *1
W -

(1) P,>P, W>0

(2) P,<P,W<0

(3) P,>P,W<0

(4) P,=P,W=0

SIS ShHT 5T fohET HSHT HId H 627°C T 3 x 10°
cal ST AT 8 37T 38 27°C o fish &l 2 2ar 2l

o g0 R e R -
(1) 4.2x10°J (2) 8.4x10°J

(3) 16.8x10°J (4) zero
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19.

20.

ALLEN
19.

The mass of the bob of a simple pendulum is

'm' and it carries a charge 'q'. It oscillates in a
uniform electric field E as shown in the figure.

Its time period will be :—

4111

£
(1) 2n,/ =
g
1/2
2) 2n< t qE>
g+
1/2
£
3) 2n —&
g m
1/2
4) 2n t

q’E?
(& + %)
A wave travelling along the x-axis is

described by the equation y(x,t) = 0.005cos
(ax — Pt). If the wavelength and the time

period of the wave are 0.08 m and 2.0 s,
respectively, then a and [ in appropriate

units are :

(1) a=25.00n;p==n

0.08 2.0
2) a=—p=—
s s
0.04 10
() o= —;B=—
m m

T
(4) (1—12.507[;[3—%

20.

Teh Gl AT o SIeieh ol SoqH 'm' & 97 39
T ST T /AT ' B TS TeETEr e T &

E i 3 ST 2, A1 SHeRT SATadehTe a1 -

4111

/€
1) 2,/ —
(1) 2m g

1/2
(2) 2= t =
g+ w

1/2

£
3) 2n L 8 &
m
1/2

4) 2n L

)

X-F& % AR TA ATl T FHHTT
y(x,t) = 0.005cos (ax — Bt).

gra afita & STt 71 afe i i qimeet vd
AT HA HAM: 0.08 T TE 2.0 YHUE
B Al o T B IUYH HAH H © :

(1) a=2500n;p==n

0.08 2.0
) o=—,p=—
T (L
0.04 10
(3) o= ——:p=—
T T

T
(4) 0{—12.507[;[3—%
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ALLEN

21. A progressive wave of frequency 500Hz is | 21. 500Hz 3T i Teh ST T 360 m/sec % T
travelling with a velocity of 360 m/sec. How T T R & 81 & T STk T heAtal 60° ®
far apart are two points 60° out of phase ? éﬁﬁﬁﬂﬁﬂ&%aﬁ ?

(1) 0.24m (2) 0.36m (3) 0.12m (4) 0.56m (1) 0.24m (2) 0.36m (3) 0.12m (4) 0.56m

22. Two point charges Q, & Q, are placed at a 22. E\Tﬁi{Qﬂ'IﬁQTQI HQZW@ﬁrEﬁWﬁWE\T
distance r. Then find the ratio of force which ql 3 TET T {\Fﬁ U AT T Sl T SIREIN]
they exert on each other :- BI:-

(1) 2:3 2) Q:Q (1) 2:3 (2) Q:Q
(3) 1:1 4 Q:Q, (3) 1:1 “4) Q:Q,

23.  Two small spheres each having a charge +Q | 23. 31 BN g fSH T W +Q FHATH U o &,
are suspended by insulating threads of length L T LIS & gh U SO s LoHier & oar
from a hook. This arrangement is taken to a ﬁ%ﬂ'ﬁ‘?ﬁ i@ o E?FFI':% Tl'g K B AT
space where there is no gravitational effect, T 3T H T@H mﬁaﬁaﬁgmm&m%ﬁ%,
then the angle between the two threads and the o ST ST 2 T ST o s hior aT S
tension in each will be :- H T B ;-

2 2
1
(1) 180°, — Q— (1) 180°, —— Q
4dneg (2L)2 4me (2L)2
1 Q 1 Q
2) 90°, —— — 2) 90°, —— —
@ " d4mey L2 @) " dmey L2
1 Q? 1 Q?
3) 180°, —— — 3) 180° —
®) " 4ney 212 3) " 4mey 212
1 Q? 1 Q?
4) 180°, —— — 4) 180°, —
@ 4ney 1.2 @ 4meg 1.2
24. The resultant capacitance between A and B in 24, fFEfRATATIB %WWH‘H@W giiar g -
the following figure is equal to : 3uF 3uF SPF
wr e,y so 1
so— |
2uF—— ——2uF _—Z3uF
2uF== ——2yF T 3uF )
| | | B I I
Be— || || SWF SuF 3uF
3pF JuF 3pF
(1) 1uF  (2) 3uF  (3) 2uF (4) 1.5pF (1) 1uF  (2) 3uF (3) 2uF (4) 1.5pF
| SAMPLE PAPER # 01 1001CMD302122001 |
Page 8/52 Space for Rough Work / Yth cav ks fore snTE E+H



25.

26.

27.

ALLEN

Power provided by a battery in load resistance 25. Sl 30 aTer gfay § 9T wike SAfrekan g
is maximum when Tfg 2
(1) Internal resistance is equal to external resistance (1) oFfafes gt amer gfalre & ‘gle‘aﬁl
(2) Intemal resistance is greater than external resistance (2) 3Taieh Sferer STer Iferrer & <7 ||
(3) Internal resistance is less than external resistance (3) 3aieh gfaRier sTer Tfaer & st
(4) None of these (4) IHIE T T RIS T
In the given figure, battery E is balanced 26. f@ ™ fux 4 9 E favyawrdt ar & 55 ot
on 55 cm length of potentiometer wire but TS T ‘é!-_gij'%l'd H qiq SIs Teh 10Q sl gt
when a resistance of 10Q is connected in 39 St % 1Y FHTR SHW H TR ST ® v
parallel with the battery then it balances on H@Fﬁ?ﬂm‘% 50 |t 21 ST 21 Al sIed o AT
50 cm length of the potentiometer wire then Sfier T A ¢ -
internal resistance r of the battery is :- 2V
Fid .
. < Im B >
< Im > A
i B
E r
E r |
—h
(H 12 2)3Q (B)10Q @ 5Q (H 1@ @2 3 3) 10 4 50
In the following circuit, the amount of heat 27. T afmer o 150 vfater & grr scafsta soar it

emitted by 15Q resistance is 120 cal/s. The
amount of heat emitted by 14 Q resistance will
be (in cal/s) :-

140 160

A ' “, " |‘¥ f—"‘-

HET 120 cal/s ®, @ 14Q Ifee & g0 ScAfSia
3T hT AT (cal/s)ff‘&ﬁTﬁ:—

1402 1602

A e A
1560
AN
E
]
1t

150
VAN
E
1.
{)
@ 60 (1) 60
@ 2 ) 32
G 28 3) 28
@ 240 (4) 240
[ SAMPLE PAPER # 01 1001CMD302122001
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28.

29.

30.

ALLEN
28.

A charge particle of charge q & mass m is
accelerated through a potential diff. V volts. It
enters a region of orthogonal magnetic field B.

Then radius of its circular path will be :-

Vm
2qB?

(1)

2V m
qB?

o 52 3)
o fE

Due to small segment of current carrying wire

)

the vector form of Biot - Savarat's law is -

po 1dLsin®
4n r2

(1) dB =

._) ~
(2) gp — Mo dUXT

T r2
3) d]§: H_OldEXI‘
A 13

- —

(4) d]g: &idﬁxr
4 r2

A constant current i is maintained in a solenoid.

Which of the following quantities will not increase if

an iron rod is inserted in the solenoid along its axis ?
(1) Magnetic field at the centre

(2) Magnetic flux linked with the solenoid

(3) Self-inductance of the solenoid

(4) Rate of Joule heating

29.

30.

q ST TAT m SIHH T Tk 0T V favaial 9
Al fopam T R1 IE U HAfTAvSEd IR &
B H Y937 LT & a 36k 9 shl s gl -

Vm
2qB2

(1)

2V m
qB?

2Vm [ 1
Oy B
Vm (1
4) 4 \B
TETE] =TTeh a8 &R 3IeqisT & fod om i -
e & el w2 -

(2)

Lo 1d€sin®
4r r2

(1) dB =

._) ~
(@) g§ = Mo MUxr
41'C r2

3) 4B — wo ide x r

4n 13
(4) d]g:&idﬁxr
A r2

e il # g g i cnfya R afe
UiATITeT | gwht 3787 o TSR le hl B Hfow
FHEET S 1 = 7 @ st afsn a2 s

(1) 5 T TrIhT &t
(2) TRACTSRT & Arelg Traehl Tt
(3) UTATTeRT T T

(4) ST FHT T T

1001CMD302122001
E+H
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31.

32.

ALLEN
31.

The voltage across a pure inductor is
represented by the following diagram. Which
one of the following diagrams will represent

the current

(1) \ /\ 2)

G) /\ e
ARVA

The impedance of the RL circuit given in the adjacent
figure is expressed by the relation Z> = A* + B Then
the dimensions of AB are

32.

TF [ ITF &k MU F AT AT H
fFrg a3 & swiwr ww B oy w3
fagwew o @ =wgar T aru w®@ yefia
HTA B

(1) \ /\ 2)

R VA
/ \J

9 T RL gfay for § gfdsmar s areey
7%= A? + B? g oF<h foRam SIrar €, dF AB Y
ﬁTIT_EﬁTﬁ:—

R R
L I
(1) [M'L’A*T7] (1) [M'L’2AT7]
(2) [MZL'T°A™] (2) [MPL*T °A™]
(3) [M'LT'AT] (3) [M'LT'A?T]
(4) [M'L?A°T] (4) [M'L?APT]
| SAMPLE PAPER # 01 1001CMD302122001
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33.  Which of the following statement is false for
the properties of electromagnetic waves ?

(1) These waves do not require any material

medium for propagation

(2) Both electric and magnetic field vectors
attain the maxima and minima at the same

place and same time

(3) The energy in electromagnetic wave is divided

equally between electric and magnetic vectors

(4) Both electric and magnetic field vectors are
parallel to each other and perpendicular to

the direction of propagation of wave

34, If light travels a distance x in t; sec in air and
10x distance in t, sec in a medium, the critical

angle of the medium will be :

(1) tan™ (:—;) (2) sin™! (:—;)
(3) sin”! <10t1) (4) tan™ (10“)
) t

35. If the focal length of the lens is 20 cm, what is

the distance of the image from the lens in the

following figure ?

33. forera ek T o TN o TRl ShIFET o Hel
@@ T2 2
(1) 7 qT o H=lor o for2r foret gearmenes aream
) FTIRIHAT Tal Bl 2
(2) Torra 3T rershia & @fewt, SHT & 3fs
IR FAfTy e & auT 3 T W O
H|
(3) ¥ qCM # fepa AR Frachi wfewti & o=
FS1l o1 o forawor grar Bl
(4) 3 I H forra @fest 3 et wlewT, T
agﬁé%‘emmt S T <t g=rr i fewm &
I BId Bl
34, AR TERAFH ¢, sec H x T T FT € T T

3T gy o t, sec o lOXEﬁWW%,?ﬁ
HTeH o oI shif=cen shIoT s A BIT:

(1) tan™ (:—;) (2) sin™' <:—;>
(3) sin! (10“) (4) tan™ (10“>
t t

35. e o=\ oA wipw gt 20 W @, A1 Fe e A
fdfers shl T G gl e ?

(1) 5.5cm (1) 5.5cm

(2) 7.5 cm (2) 7.5cm

(3) 12.0 cm (3) 12.0 cm

(4) 20.0 cm (4) 20.0 cm
| SAMPLE PAPER # 01 1001CMD302122001
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ALLEN

( SECTION-B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

36. A ray incident at 15° on a refracting
surface of a prism of angle 30° suffers a
deviation of 55°. Find the angle of

emergence.
(1) 0°  (2) 70° (3) 50° (4) 45°

37. A ray of light of intensity I is incident on a
parallel glass-slab at a point A as shown in the
figure. It undergoes partial reflection and
refraction. At each reflection 20% of incident
energy is reflected. The rays AB and A'B'

undergo interference. Find the ratio I,,,,/1,.;, :

(1) 80:1 (2) 80:2
(3) 81:1 4) 71:1

38. Effect of diffraction can be neglected when

distance between screen and lens/slit is :-
(1) greater than a*/\

(2) less than or equal to a*/A

(3) any value greater than 50\

(4) more than 10 km.

-

=l

.

@IS T 15 ¥ 81 wameff 37 15 v § A A
ot 10 w2 X Hepar 21 Af qheeff 10 & ftrem wx
1 I AT & A o TR g I 10 W & A=

gue-B

J

36.

37.

38.

eyt foor fiem wior 30° ot fow &
Y I8 W 15° & HIVT G ARG Bt & T
55° o farerer ehior o forarfera gidt @ at fefa o
T T J1d i)

(1) 0°  (2) 70° (3) 50° (4) 45°

safad s fRwer it e 1@ a0 a8 T
ufgeht T afaa Bidl 81 fo SER Fw A
T e WAt SAqafid ardr €, o 8 e
o T 20% sl GUEfdd aidt 8 Gl AB 7T A'B'
SATHRTT L Al /Ly, T STATA T BT

max’

(1) 80:1 (2) 80:2
(3) 81:1 4) 71:1

fordae % INTE SRl F70T HHET ST HehT © Ife g/
fecte wd ud & wem A gl

(1) a’/A ¥ 3T 2
(2) %) | 3T AN HT B AT TR
(3) 500 T 3ARIF R
(4) 10 km ¥ Sq1eT 2|
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39.

40.

41.

42.

43.

44.

ALLEN

Light of frequency v is incident on a metal of threshold
frequency v,. Then work function of metal will be:-

(1) hv
(3) h(v-v)

What is the number of possible spectral lines if

2) hv,
(4) h(v+vy)

electron in 3™ excited state of H-atom :

(1) 3
Binding energy per nucleon of H? is 1.11
MeV. Find mass defect.

(2) 4 (3) 6 (4) 8

(1) 0.056 amu (2) 0.00238 amu

(3) 1.6743 amu (4) ~0.009832 amu

The correct order of ionizing capacity of a,
and y-rays is :-

(1) a>y>p (2) a>p>y

() a<p<y (4 a<y<p

In the circuit shown the transistor used has

current gain B = 100. What should be the base
resistor Ry so that Vg =5V, Vg =0

R, 1kQ |
. C+ Aov-T_
YCE
(1) 1x 10°Q (2) 500 Q
(3) 200 x 10°Q 4) 2x 10°Q

What will be the input of A and B for the
Boolean expression (A+B) . (A - B) =1

(1) 0,0 @) o,1

3) 1,0 @ 1,1

39.

40.

41.

42.

43.

44.

v SR T FHRT v, Seil AR ATl a1g |/
STaferd 2 T &7 BT HrEAEE ¢ -
(1) hv

(3) h(v-vy)
A H-0wT] & ol et Iufsia sTaeerm & &
AT TrTTor TR WaTel st T gl -

(1 3 () 4 (3) 6 4 8

(H? o T 113 sht sfe it i =forerad 1.1
MeV =, T 599 & 81T

2) hv,
(4) h(v+vy)

(1) 0.056 amu (2) 0.00238 amu
(3) 1.6743 amu (4) —0.009832 amu

a, B 3T y-Tortott it shureig STTE=eRtoT &TaT ® :-

(1) a>y>B (2) a>B>y
(B) a<B<y (4) a<y<pB

& 72 ufaer & o @ B = 100 @ R, T AE
FAT BT LT TR Vo = 5V T Vi = 0 2

R, 1kQ |
. C+ qov_T_
YCE
(1) 1x 10°Q (2) 500 Q
(3) 200 x 10°Q 4) 2x 10°Q

IR &5 (A+B) . (A - B) =1 &f@A
qT B o faef @ g
(1) 0,0 2) 0,1

3) 1,0 @ 1,1
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45.

46.

47.

ALLEN
45.

Which of the following energy band diagram

shows the n-type semiconductor :—

(1) | Conduction (2) | Conduction
| Band | Band
r N

Impurity level

E=leV

AEg =1 eV
v
Vidlsiicis Valence
Band Band
(3) Valence (4) Valence
Band Band
............ F 9
Impurity level AEg =1eV

AEg =1eV Impurity level
b Al

Conduction FCOnduction I
Band Band

A moving mass of 8 kg collides elastically with

a stationary mass of 2 kg. If E be the initial
kinetic energy of the moving mass, the kinetic

energy left with it after the collision will be :-
(1) 0.80E
(2) 0.64E
(3) 036 E
(4) 0.08E

A linear harmonic oscillator of force constant 6
x 10° N/m and amplitude 4 cm, has a total
energy 600 J. Select the correct statement.

(1) Maximum potential energy is 600 J
(2) Maximum kinetic energy is 480 J
(3) Minimum potential energy is 120 J
(4) All of these

46.

47.

frr 4 9 9 Slufegw g nusR &

a@‘amaﬁmfm%:—
(1>| = | (z)ng‘g |

. e wW
Eq~leV AE.- 10V
TSt BRIST
ELS Jug |
bl .
G| e @ |
| srfe =R AE,= 1eV
AE = 1eV adeult ST 5 R
S g

8 kg T TIHT @M fohelt 2 kg o feer seamm
Y T THE AT gl Afs TR it Setf B
B 1 T % o1 8 kg & 4@ ferat nifast Sett
CELIRE

(1) 0.80 E
(2) 0.64E
(3) 036E

(4) 0.08E

T @ A qife w1 S a6 x 10°
N/m T AW 4 cm T Fd St 600 J 3] &
ERERCIER]

(1) rferehaw frafast o1 600 J ®
(2) Afrenaw st it 480 J ®
(3) =gFam feufest Fif 1207 2
(4) STk it

| SAMPLE PAPER # 01

1001CMD302122001

E+H

Space for Rough Work / TP cav ks ﬁnz SliTe

Page 15/52



ALLEN

48. In the fig., an infinitely long charged wire of
linear charge density 'A' is shown. Then the

potential difference between points A and B is —

1+
1

+ ar B

A
4ne

mE3)"t @

(1)

s tn(2)

A
4ne

A
2n€

3) tn(3) 4) tn(3)

49. The ratio of initial to final current through the
battery when the switch is closed in the figure
is:-

A ——— R
R

N
R

R
WA

(2) =

4 3
(1) Zero 3) 3 4) 1

50. A person can see clearly objects only when they
lie between 50 cm and 400 cm from his eyes. In
order to increase the maximum distance of distinct
vision to infinity, the type and power of the

correcting lens, the person has to use, will be :-
(1) concave, —0.2 Dioptre
(2) convex, +0.15 Dioptre
(3) convex, +2.25 Dioptre

(4) concave, —0.25 Dioptre

48. T ¥, 3-q @FITE 1 AERTE ar e Wi
STRT B ' 2, It T 21 7 o A qen B %

e freT=aT BT
%
+
M T A
+
+ 3r E
(1) w@)" @ @)
2n€y 4ney
A A
(3) Inc tn(3) 4) G tn(3)
49. T # 9a Ra= & o= foram SITm @, o Sl @
SaTfed SRTPHeh o S8 T T 31T 1T -
AN
R
N
R
_f_|| '“RMU
4
(1) Zero (2) « (3) 3 (4) %

50. T Afh [ I&] I TIT Faet aHft 7@ FHAT 2
ST A& 50 om T 400 om AT g o #e T fbarq
2N 3T T T T T 3@ o TG —H A Y
&THAT TAT JehI BT -

(1) 3Addd, —0.2 Dioptre
(2) 3dd, +0.15 Dioptre
(3) 3dd, +2.25 Dioptre

(4) Hddd, —-0.25 Dioptre
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ALLEN

SUBJECT : CHEMISTRY

Topic : Full Syllabus

L

SECTION-A
Attempt All 35 questions

S1.

52.

53.

54.

35.

Four one litre flasks are seperately filled with
the gases hydrogen, helium, oxygen and ozone
at same room temp. and pressure. The ratio of
total number of atoms of these gases present in
the different flasks would be -

(1) 1:1:1:1 2) 1:2:2:3
3) 2:1:2:3 4) 2:1:3:2

The radius of which of following orbits is same
as that of first orbit of H-atom ?
(1) He" (n=2) (2) Li?(n=2)

(3) Li”?(n=3) (4) Be® (n=2)

Absence of one cation and one anion in crystal

lattice is-

(1) Ionic defect (2) Frenkel defect

(3) Schottky defect (4) Interstitial defect

In which of the following process temperature

of'ideal gas decreases :-
(1) Adiabatic expansion

(2) Adiabatic compression
(3) Isothermal expansion
(4) Isothermal compression

Consider the reaction at 300 K

H,(g) + Cly(g) — 2HCI(g); AH® =185 kJ
If 2 mole of H, completely react with 2 mole of

(

WUE-A
aeft 35 v rfaard §

S1.

52.

53.

54.

35.

TF el & AR FARI A JUF F9 4§, TH
T % FHHL & a9 9 16 YT, B3I, Bfctd™,
TS qor S @ wu mar ®) fafire
FeATEhT H SR 9 o ol THTISAT shi HEA
T ST T -

(1) 1:1:1:1 2) 1:2:2:3

3) 2:1:2:3 4) 2:1:3:2
= o 9 forwr i it Bsar sat & € ot H

AT 3 oI ShIRT T 82

(1) He' (n=2) (2) Li2(n=2)

(3) Li?(n=3) (4) Be”® (n=2)

foheee ST § Ush O 9 TS UM 6l
Fgaftert FEdrd! 2 -
(1) smafe AR (2) HHA AR

(3) e (4) ST Afe

e 0 9 form wshe O atresl A9 % 99
gt ;-
(1) TS JHR

(2) FE™ gdteT
(3) THATIR JER
(4) GHATI gdted

300 K 9 greft et SAffsham =61 g3 ol
H,(g) + Cly(g) — 2HCl(g); AH® = —185 kJ
afe 2 At H, qUid: 2 A FAA @ fpam e

Cl, to form HCI. What is AU® for this reaction ? HCI AT 21 T sAfwfsha o for AU° e @ -
(H o (2) —185kJ (H o (2) —-185kJ
(3) 370 kJ (4) -370kJ (3) 370 kJ (4) -370kJ
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56.

57.

58.

59.

ALLEN

Which is a redox reaction : 56.
(1) 2Cul, » 2Cul +1,

(2) NaCl+ AgNO; — AgCl + NaNO;

(3) NH,CIl+ NaOH — NH; + NaCl + H,0

(4) Cry(SO,); + 6KOH — 2Cr(OH), + 3K,SO,

Unknown gas diffuses with CO,. Rate of diffusion 57.
of unknown gas is double than that of CO,. The
molecular weight of the unknown gas is :-

(1) 22 (2) 30 3) 11 (4) 44

An element X (at. wt. = 80 g/mol) having fcc 58.

structure, calculate number of unit cells in 8 g of X
(1) 0.4N, (2) 0.025N,

(3) 4N, (4) 02N,

The temperature dependence of the rate 59.
constant k is expressed as k = Ae Fa/RT

When a plot between log k and 1/T is plotted
we get the graph as shown. What is the value of

slope in the graph?
a
logk
/T >
Ea.
1
Ea
@ ~7303R
Ea
®) ~330rT °2A
E. R
@) 2303 T

Il Ly SR 2 -

(1) 2Cul, — 2Cul + 1,

(2) NaCl + AgNO; — AgCl + NaNO,

(3) NH,CI + NaOH — NH, + NaCl + H,0

(4) CI‘2(SO4)3 + 6KOH b 2C1‘(OH)3 + 3KZSO4

Teh T 16 CO, o ary forafed gieft 81 313ra g
1 fergeor &t ® CO, #i A T R I T\ w
[ VR BT -

(1) 22 (230 (3) 11 (@) 44

Th dcd X (WA F9AE = 80 gm/mol)
foc BTEATRI 8 gm X W 3T BRI hl HE&AT &

(1) 0.4N, (2) 0.025N,
(3) 4N, (4) 02N,
o feorien k it amg ffear k = Ae Eo/RT e

Sk <l ATt 21 9T log k TS 1/T & HEX Ik ol
SRR A &, 1 &6 FeTEr 3 T 2 2

ok | Tl Rl HIH AT 2
F 3
logk
1/T >
E,
Ea
@ ~73m3Rr
E.
®) “330RT °2A
E, R
@ "33 T
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60.

61.

62.

63.

ALLEN

E° values of Mg?/Mg, Zn*/Zn and Fe*/Fe | 60. Mg?>* /Mg, Zn>'/Zn Q¥ Fe’'/Fe &% E, WH
are —2.37V, —0.76V and —0.44V respectively. A —2.37V, —0.76V quT —0.44V 3| = A
Which of the following statements is correct :- TS hUT 2 -
(1) Zn will reduce Fe** (1) Zn, Fe** o1 STU=Ifarg sham|
(2) Zn will reduce Mg>* (2) Zn, Mg®* &l 3T9=ITd |
(3) Mg oxidises Fe (3) Mg, Fe =i STeriehd |
(4) Zn oxidises Fe (4) Zn, Fe 1 SATafiehd S|
Equivalent conductance of BaCl,, H,SO, & 61. A9~d qfdr 9T BaCl,, H,SO, 9 HCI &t
HCl at infinite dilution are A,', A’ & qedishl Al AW AL, A2 T AL H
A’ respectively. Equivalent conductance of BaSO, fawas &t 319+d dqdr 9t quicﬁl
BaSO, solution at infinite dilution is :- IreAal & -
(1) /\ool +Aoo2 -2 /\003 (1) /\ool +/\002 -2 /\003
2) A AT HAS (2) Ag'+AS A
3) A HAS A 3) AL HAS A
(4) /\ool - /\oo2 + Aoo3 (4) /\ool - /\ooz + Aoo3
What amount of ice will separate out on 62. 50g 3ATSAIA TATZhIc Eal 200g STt T e W —
cooling a solution containing 50g ethylene 9.3°C Tk 3T fohaT SITaT 8, STt T fohd AT YR &%
glycol in 200g water at —9.3°C ? T gftafda g -
[Kf(Hzo) = 1.86K kgmol '] [Kf(HZO) = 1.86K kgmol ']
(1) 38.7¢g (2) 161.3g (1) 38.7¢g (2) 161.3g
(3) 93¢ 4) 20g (3) 9.3¢g (4) 20g
What is the hybridization of C, , C, , C; carbon 63. f=feifaa Afie o C .G, G ST T HHLIT
in the following compound ? FTE 2

CH~CH,~CH=CH-C=C-H CHa—(sz—(fHCH—(fC—H

1 2 3 1 2 3

(1) sp’, sp’, sp’ (1) sp’, sp’, sp’
(2) sp’, sp’, sp’ (2) sp’, sp?, sp’
(3) sp’, sp’, sp (3) sp’, sp’, sp
(4) sp, sp’, sp’ (4) sp, sp’, sp’
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ALLEN

64. Reactivity order towards Electrophilic addition 64. s@agﬁﬁﬁ IqrTTersh ARt o ufa feramefierar
reaction ? ST Tl hH ?
(a) (b) (L) (d) (a) (b) (L) (d)
(1) a>c>b>d (2) a>b>c>d (1) a>c>b>d (2) a>b>c>d
(3) d>c>b>a 4) b>a>c>d (3) d>c>b>a 4) b>a>c>d
65. Propyne does not react with which of the 65. 9ursT e O 9 foroes any srfuferar T et
following :- q-
(1) Ammonical Cu,Cl, (1) 3THHRd Cu,Cly
(2) Baeyer's reagent 2) R TRt
(3) Tollen's Reagent 3) el srfierdeh
(4) NaOH (4) NaOH
66. How many optically active isomers will be | 66. 7= Jfe & Tva Yl wfehar auTaat 6t
possible in given compound :— T T -
CH,-CH-CH-CH-CH, CHy-CH-CH-CH-CH,
Br CI 1 Br ClI 1
1 2 (2) 4 (3) 8 “4) 3 (1) 2 2) 4 (3) 8 “4) 3
67. In the given reaction : 67. <t g AffoRaT 1-
(|)H (l)H (|)H (l)H
CH; —CH —(|:— CH,__ HIO, 3 (P)+(Q) CH; —CH— (|: CH,__ HIO, 5 (P)+(Q)
CH; CH;
(P) and (Q) are : (P) AT (Q) &
(1) CH;CHO 9t CH,CHO
(1) CH;CHO and CH;CHO (2) CH,COCH, d9T CH,CHO
(2) CH;COCH; and CH;CHO (3) CH,COCH, @91 CH,COCH,
(3) CH;COCH; and CH;COCH;, (4) CH,COOH 9T CH,COCH,
(4) CH;COOH and CH;COCH;
| SAMPLE PAPER # 01 1001CMD302122001
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68.

69.

70.

ALLEN
68.

Reactivity towards AgNO; or Sy 1 reaction :-

) @— CH,-Br (II) CH,=CH-CH, Br
(I11) | % @— Br
Br

(1) I>1O>11>1v
2) M>1>1U1>1V
3) H>1>1v>11
4) I>11>1V>1I
Which of the following when heated with KOH

and primary amine gives carbylamine test
(1) CHCl,

(2) CH,CI,

(3) CH;0H

4) CCl,

Assign the structure of major product (X) of

the reaction given below ?

69.

70.

AgNO, TS, 1 Affsran & ufar foramefierar sFa 2 -

M @_ CH,Br (Il) CH,=CH-CH, Br

(I10) | S av) @— Br
Br

() I>0>1>1V
2) I>1>111>1V
3) I>1>1v>11
4) I>1I>1v>Il

1 9 @ %9 KOH Tem wrufiss v & grer
ST U Shifsie UHI SAf7fsRar aar @

(1) CHCI,
(2) CH,CL
(3) CH,OH
4) ccl,

e & s AR & 7= s (X) #W
GTEAT BT 2

SOCl, SOCI, (Tt
@—(EH—COOH L 5 (X) @—(l:H—COOH ASiluiil ¥y g
OH OH
i i
 (Oy—cnLon » (Oy-c L on
Cl Cl
i i
(2) @—(lzl-l--c—CI (2) @—(lzn--c Cl
Cl Cl
i i
(3) @—(I,‘H—C—C] (3) @—(I.‘H—C—C 1
OH OH
ﬁ (0]
4) @CH=CH—C—O—Et 4) @—CHzCH—(ljl—O—Et
| SAMPLE PAPER # 01 1001CMD302122001
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71.  Which of the following will not give | 71. T4 @ %= Faemr stfuferan 7 gwiam
Cannizzaro reaction?
ﬁ I ﬁ I
(1) @"“—H 2) +C—H (1) @——(‘—-H ) +C—H
cl |
it ol Q it ol a
(3) cl—C—C—H 4) Il (3) cl—C—C—H (4) |
! H—C—H ! H—C—H
72. Find out the decreasing order of boiling point 72. T faRea et & Feremis &1 gear AT %A
in the following compound :- BT ;-
(A) n-C,H,OH (B) n-C,H,NH, (A) n-C,H,OH (B) n-C,H,NH,
(C) (CHs),NH (D) C,H;N(CH,), (C) (C,Hs),NH (D) C,H;N(CHs),
() A >B>C>D () A >B>C>D
2) B>A>D>C 2) B>A>D>C
3) C>B>A>D 3) C>B>A>D
4) D>C>B>A 4 D>C>B>A
73.  Which of the following alkene is the most stable? 73. faforRaa o @ o waifees ot tehia 2 2
| 5 N A ’ 5 N
n " T @ o~ T @ (
= =
(3) (4) | (3) (4) |
74. Number of electrons shared in the formation of 74. qT's'@GF[ SN & 99 H ELY) cr;.T-l grfera arar
nitrogen molecule is :- -
(1) 6 (2) 10 3) 2 4) 8 (1) 6 (2) 10 3) 2 4) 8
75. The alkali metal that reacts with nitrogen | 75. &R 4rq St ATsgioM @ wiefl sAlRm ik
directly to form nitride : TSI AT & -
(1) Li (2) Na (1) Li (2) Na
3) K (4) Mg 3) K (4) Mg
76.  Which of the following is most acidic in nature :- 76. =0 O yeoT ol aEsS € -
(1) MnO, (2) As,04 (1) MnO, (2) As,O4
(3) TiO, (4) SeO, (3) TiO, (4) SeO,
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71.

78.

79.

80.

ALLEN
77.

Plaster of paris is used :

(1) In dentistry

(2) As a white wash

(3) As a constituent of tooth paste

(4) For the preparation of RCC

List-I List-II
@) Ny, || Ndnne
? refining Metal)
@| ™oy @] e
! refining Metal)
Pb (during
(R) MI, ©) .
roasting of ore)
Ag (duri
)| Mo |m| Aelne
leaching of ore)
P | Q| R S
M| D|lA|B]|C
| D|B|A]|C
3| C|A]|B D
@|A|B|D]|C

Which of the following ligand has strongest

field strength ?
(1) CO 2) I
(3) Br (4) NH;

Which of the following have maximum

unpaired electron ?
(1) Cr (2) Gd"

(3) Eu® 4) Lu®

78.

79.

80.

THATEST 3T U ohT STFT BT © -
(1) &a v faferean o
(2) hS HA T
(3) TUURE & HEEH H
(4) RCCTAH T
-1 11
) Ni (4Tq &1
(P) | IM(CN),]" [(A) )
Ti (4Tq G
Q| [M(CO)] |(B) )
Pb (3TH & TSI
(R) M, (©) 5 iy
Ag (TR &
®) MO ) FreqTe o S
P|Q|R| S
| D|A|B|C
@|D|B|A|C
3| c|A|B]|D
@|A|B|D]|C

1 9 @ S fanve gaaan & gmed waar
29

(1) CO 2) I

(3) Br (4) NH,

A0 ¥ frud waifrs sgfma goeg
=T 2

(1) Cr (2) Gd"

(3) Eu" (4) Lu®"
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81.

82.

83.

84.

85.

ALLEN

The pair of amphoteric hydroxide is :-
(1) Al(OH),, LiOH

(2) Be(OH),, Mg(OH),

(3) B(OH);, Be(OH),

(4) Be(OH),, Zn(OH),

Which of the following can not be extracted by

pyrometallurgy?
(1) Fe (2) Zn
(3) Cu (4) Ca

Which of the following has not a real peroxy link ?
(1) HCIO, (2) HNO,
(3) H,SOs (4) H,SO,
Laboratory method for preparation of diborane is :-
(1) BF,+ LiAlH,
(2) BF;+NaH
(3) NaBH, + 1,
(4) B,+H,
(i) CO, CH;MgBr
PhMgBr A B
(i) H,0
Product B is :

(1) CH,
@ Ph--OCH,

(3) PhCH,OH

@ Ph-C-CH,
|
0

81.

82.

83.

84.

85.

Il FEgETEE F W R
(1) Al(OH);, LiOH

(2) Be(OH),, Mg(OH),

(3) B(OH)s, Be(OH),

(4) Be(OH),, Zn(OH),

S & fomren! ATt erreRd & Fehfe e fopa ST
AT 87

(1) Fe (2) Zn
(3) Cu (4) Ca
forerd aredtares aiee sua i @ 2
(1) HCIO, (2) HNO,
(3) H,SOs (4) H,SO,
e o famfor it yamerer fafr 2 -
(1) BF, + LiAlH,
(2) BF, + NaH
(3) NaBH, +1,
(4) B,+H,
(i) CO, CH;MgBr
PhMgBr A B
(i) H,0
IUEBR -
(1) CH,

@ Ph-C-OCH,

(3) PhCH,OH

4) Ph—?—CH3
I
O
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ALLEN

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted
L questions will be considered for marking.

SECTION-B )

J

86.

87.

88.

Which of the following is an example of

homogeneous equilibrium ?

(1) 280y + Oyy= 2S04,
(2) Ci+ HyOp= COy + Hy
(3) CaCOs= CaO, + COy,
(4) NH4HS = NH;,) + HyS(,

What will be the solubility of AICI; (solubility
K,,) in solution of CaCl, of

concentration C ?

product =

Ksp
2C

Ksp
8C3
Ksp
3C

Ksp
4C2

Which one of the following characteristics is

)

)

3)

“

associated with adsorption ?

(1) AG is negative but AH and AS are positive
(2) AG, AH and AS all are negative

(3) AG and AH are negative but AS is positive

(4) AG, AS and AH all are positive

-

A @IS T 15 97 81 wameff 37 15 v 7 A A
Y 10 w2 X Hehar 21 AfS qhemeff 10 & Aftrem wx
1 I AT & A o TR g IO 10 I & AT

qve-B

Ul
. J
86. w1 @ @ Hi9-wr IS GH{IT GTEATIEAT
FTE?
(1) 280, + O™ 2505,
(2) C+ H,0™ CO + Hyy
(3) CaCO5= CaOy, + COy
(4) NH,HS= NH,, + H,S,,,
87. C HT=sdl & CaCl, faer= & AICI, st fareizrar =/
Bt 2
(AICI, T forerIaT TuHwa = K )
Ksp
1
(1) e
Kgp
2
2 T
Ksp
3
3) e
K
4
©® 4C?2
88. famAfcifiaa Seon o @ s srfRrenyor @ grsfeaq

g7

(1) AG VT AfhT AH Td AS & BId 2
(2) AG, AH TS AS @+t sRUlTcHe: Bid 8

(3) AG Ud AH FRUTIcH AfhT AS GFTcH BidT 2
(4) AG, AS T AH G+t &Tcheh 2id 1
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89.

90.

91.

ALLEN
89.

CH=0
| Brz/HQO
((fH—OHL1 P ; Product P is :-
CH,—OH
(fOOH (|]H=0
() CH—OW), @) (CH—OH),
CH,—OH COOH
?H: 0 CI}OOH
L CH—OH
® (CH—Om), @ )i
CH=0 COOH

Find out the reactivity order of following esters

towards hydrolysis.

COOCH,
COOCH,
(A) (B)
CH,
COOCH, COOCH,
0@ ©Q
NO, OCH,

() C>A>B>D (2) D>B>A>C

3) A>B>C>D (4) C>A>D>B

Three component a,b & c seperated by use of

thin layer chromatography according to
following figure, What is relationship between

their R; value :-

solvent «—
front

ﬁc
—>b
—>a
[~ Base line

\ | T Fp |

Developed chromatogram

(1) a>b>c (2) c>b>a

(3) a=b=c (4) b>c>a

90.

91.

CH=0
| Brz/HQO
((fH—OH)‘1 P;3CUEPE —
CH,—OH
(fOOH (|]H=O
(1) ((ITH—OHL (2) (CH—OH),
CH,—OH COOH
CI3H=O CIﬁOOH
3) (?H—OHL “4) (CIH—OH),1
CH=0 COOH

T & JAEed & i framfiadar &1 #A
Fars|

COOCH,
COOCH,
(A) (B)
CH,
COOCH, COOCH,
o© O
NO, OCH,

(1) C>A>B>D (2) D>B>A>C

3) A>B>C>D (4) C>A>D>B

Taell W Joierad |, 99 a9 fo W o &
HTHR YU 1A 8, TTh1 R, A A1 T&T 560 HT
BT -

foems <— 0 +—>c

T ¢ T—>b

R
> &R

faenfaa wiERTE
(1) a>b>c (2) c>b>a
3) a=b=c (4) b>c>a
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92.

93.

94.

9s.

96.

ALLEN
92.

Correct order of —I effect is :-

(1) ©>NH2>CHCH2

(2) -Cl>-Br>-OH>- OR
3 N CN >-F
>_ >_

(4) -C=CH>-CH =CH, > - NH,

Which property decrease from left to right
across the periodic table and increases from top
to bottom respectively ?

(i) Atomic radius (ii) E.N.

(iii) LE.

(1) (i) only
(3) (i), (iii) and (iv)

Permanent hardness can be removed by :-

(iv) Metallic character

(2) (i), (ii) and (iii)
(4) (i) and (iv) only
(1) Washing soda (2) Calgon
(3) Permutit process

(4) All are correct

Consider the following attraction

(a) HCI------ HCl
(b) CHy------ CH,
(c)NH," ------ H,0
(d) He------ He

The correct order of strength of given attraction is

(1) c>b>a>d (2) c>a>b>d

(3) ¢c>d>a>b (4) c>b>d>a

Which of the following complex shows

ionization isomerism
(1) [Cr(NH,;)]Cl, (2) [Cr(en),]Cl,

(3) [Cr(en);]Cl, (4) [CrBr(NH;)5]SO,

93.

94.

9s.

96.

I YT KT HEI hA © -

(1) @ >_NH, >- CH = CH,

(2) -C1>-Br>-OH>-OR

3) CN >-F
>_ >_

(3) —NH,

(4) -C=CH>-CH =CH, >~ NH,

e 3 & i w1 707 ST wnoft 6 Wi Y R S
T HET & AT S A T W TG @ 2
(i) Aot forsar (i) fergga swore

(iii) AT fovE - (i) enfeash @veqor

(1) = (i) ) (i), (ii) 3 (i)
(3) (i), (iii) T (iv)  (4) FHaA Q) T (iv)
TS BT %l gL HT ST & -

(1) greq ey (2) HATHH

() THERETHEAE  (4) i

faer TRt = 2R

(a) HCl------HCl

(b) CH,------CH,

(c) NH," - H,0

(d) He------ He

o1 TR SRS 3 G T S A R -

(1) c>b>a>d (2) c>a>b>d

(3) ¢c>d>a>b (4) c>b>d>a

e o @ e G SR SHTEEdT SeRia
AT 2

(1) [Cr(NH3)6]Cly (2) [Cr(en),]Cl,

(3) [Cr(en);]Cl; (4) [CrBr(NH;)5]SO,
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97.

98.

99.

100.

ALLEN

In the fusion of chromite ore with Na,CO; in
excess of air which of the following is not

formed ?
(1) Fe,O, (2) Na,Cr,0,

(3) Na,CrO, 4) CO,

: AlCI
@ + Cly(excess) —-—A-ib Product is :-
Cl Cl
(1) @ 2) @
Cl
Cl Cl

Cl Cl
) (4)
Cl Cl
Cl Cl
Solution containing 23 g HCOOH is/are:-

w
(1) 46 g of 70% (V) HCOOH

(dsolution = 140 g/mL)
(2) 40 g of 10 M HCOOH (dy 0, = 1 g/mL)

W
(3) 50 gof25% (W) HCOOH
(4) 46 g of SM HCOOH (dgyi0n = 1g/mL)

For pure water degree of dissociation of water
is 1.9 x10”°

A,” (H) =350 S cm? mol™

A,,” (OH) =200 S cm? mol ™

hence molar conductance of water is :-

(1) 1.045%x107°S cm? mol ™’
(2) 1.045x 107 S cm® mol ™
(3) 1.045 % 107" S cm? mol™

(4) 1.04x10"S cm? mol™

97.

98.

99.

100.

ST SHIMTSE ST I AITSAW FHIEME & A A
o STTere | T R ST @ A e & st

STH & 8IdT 87
(1) Fe,O; (2) Na,Cr,0,

(3) Na,CrO, 4) CO,

@ + Cly(orom) syt
Cl Cl
(1) @ (2) @
Cl
Cl Cl

Cl | Cl
(3) 4)
(2 Cl
Cl Cl
foremr 5P 23 T HCOOH Sufted ®, sh-ama /2 2

w
(1)46 WH 70% (V) HCOOH

(deyaas = 1.40 wrm/fus)

(2) 40 T 10 M HCOOH (dpyery = 1 TTH/fHcAY)

w
(3) 50T 25% (W) HCOOH
(4) 46 7M™ SM HCOOH (dpyers = 13T/ fo)

G @ H fFAIT A oA woAA
1.9 x 10°° 2|

A, (H") =350 S cm? mol™!

A,” (OH") =200 S cm? mol™!
S I AT STAF AT HT AT ;-

(1) 1.045x107°S cm® mol™
(2) 1.045 %107 S cm? mol™
(3) 1.045x 107" S cm? mol ™!

(4) 1.04x 10" S cm? mol™
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ALLEN

SUBJECT : BOTANY

Topic : Full Syllabus

(

SECTION - A
Attempt All 35 questions

101.

102.

103.

104.

105.

Find out the probability of occurance of a
progeny with AaBbDd
Mendelian test cross:-
AaBbDd x aabbdd

in the following

@+ ol @l

1
1 2 8 4 16

The two aspect which are not the salient feature
of genetic code are :-

(1) Specific and universal

(2) Degenerate and triple

(3) Non-Degenerate and overlapping

(4) Universal and commaless

Select the correct match :-

(1) Euchromatin - Tightly packed chromatin
(2) Exon - Present only in mature mRNA
(3) Ribozyme - Protein

(4) Lac Z gene - Permease

Gene of how many of the following disorder

are located on X chromosome ?

Haemophilia, Phenylketonuria, Sickle Cell
anaemia, Myotonic dystrophy.
(3 (2) 4 (3) 2 4) 1

Clot buster agent streptokinase is produced

by :-

e - A
aoft 35 9 AFER &
101. frfafiaa a2 afteme gt & AaBbDd

102.

103.

104.

105.

SHYTET ITet Edfed ohl ITRehar sId1sy ;-
AaBbDd x aabbdd

1 1 1 1
5 @z @7 &

HFY 3 UEA ATHATF HIS F qE&T T
LR

(1) forfire ue wreitfives

(2) SAUETEd Ud e

(3) SHIIRING U HAfqeaTiud

(4) @rifies Ud HERET
GHAT T =T HIST -

(1) TR - 3¢ &9 ¥ HafSd i

(2) I - haed THFT mRNA H 97T ST &
(3) TSNS - T

(4) I Z S - eiust

fir o @ fopqy foer & S X g ™
fra g2

SHEIeTar, TEATgrshiel-g e, a HIfRTH
ITHAT, TrAeI N fewardy

(1) 3 (2) 4 (3) 2 4 1

The faeres e TR fhdsh g Hida
TATR -

(1) Streptococcus (2) Clostridium (D) QQWW 2) Wﬁg@?ﬁ?

(3) Trichoderma (4) Aspergillus 3) AZ?E%?@W 4) vyfoferg
| SAMPLE PAPER # 01 1001CMD302122001
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106.

107.

108.

109.

110.

ALLEN

Which of the following enzyme have the ability

to polymerize de-oxy ribonucleotide ?
(1) Helicase (2) RNA polymerase
(3) DNA polymerase (4) Primase

Which of the following condition correctly
describe the manner of sex determining in the

given example:-

(1) XO type is observed in large number of
mammals

(2) XY type is common in Grasshopper

(3) ZW-ZZ is seen in birds

(4) Diploidy - polyploidy type is in honey bees

The term linkage was first time given by :-

(1) T.Boveri (2) G.J. Mendel

(3) T.H.Morgan (4) W. Sutton

The backbone of RNA consists of which of the
following :-

(1) Deoxyribose + Phosphate
(2) Ribose + Phosphate

(3) Ribose + Uracil

(4) Deoxyribose + Thymine

"Pusa swarnim" variety of Brassica which
developed by hybridisation and selection is

mainly resistant for :-

(1) Yellow mosaic virus
(2) Powdery mildew

(3) White rust

(4) Bacterial blight

106.

107.

108.

109.

110.

T o & i retTew <1 ST eI eTsTIeTss
o STGCTeh [9hLUT 31 &7l &1 2

(1) ettehst (2) RNA Ul
(3) DNA UGS (4) WTSAS

freafafaa d 9 s Rufa 03 T seETn g
fam fyuitor & wrew it g w9 9 sgTEA
FLAT R 2

(1) XO YR EaTeii ¥ St G # raetifchd
[ERISIGIN

(2) XY YR g § amr= g ?

(3) ZW-ZZ YR Ufesai & 3T Srdr &

(4) wemiRga § fEaUH-SE T bt T gt &

et (fefohsT) I1eg Tagey fohe S foram o -
(1) 2. sl (2) S <. HeaA
(3) & =, ania (4) T, "

RNA & ¢ Fefafad & @ forasht s+
&Il @ -

(1) SATRTIS + BIehe
(2) TSI + HEHe
(3) TEES + oA
(4) SreifrliEaS + grfe

@ T ST H1GeT T R €, S EeR qe
= g fereRfera <t Tt R, 7 T feek fore
sfcrret & -

(1) 9id AT SR
(2) =fofer smfear
(3) & forg

(4) SfterorEty ST
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111.

112.

113.

114.

ALLEN

A collection of plants and seeds having diverse

alleles of all the genes of a crop is called :-
(1) Gene library

(2) Monograph

(3) Manual

(4) Germplasm

Monoadelphous and papilionaceous terms are

respectively related to :-

(1) Gynoecium and calyx
(2) Corolla and androecium
(3) Gynoecium and corolla
(4) Androecium and corolla

In Australian acacia, the leaves are small and
short-lived, so to perform photosynthesis
petioles expand & become flat or sickle shaped.

These modified petioles are termed as :-
(1) Cladode

(2) Phylloclade

(3) Phyllode

(4) Pulvinus

Consider the following statements :-

(A) Flowers are bisexual and zygomorphic

(B) Valvate aestivation in sepals and vexillary
aestivation in petals

(C) Presence of diadelphous condition of stamens
(D) Gynoecium is monocarpellary and marginal
placentation

How many above statements is/are correct about
Pisum sativum.

111.

112.

113.

114.

eft e ST o a1 wurE o U weet o ot s
3 farferer uefier (forpedt) U1 ST 8, ST FeaATan @ -
(1) S rEsi

(2) HHERETE

(3) 3Tt

(4) SHAH

el ud AfUfaHfaTE vee shuw: feew
Grfad & :-

(1) ST 9 STRrReys §

(2) IAYST I THTH

(3) ST o 3AYS |

(4) AT I TAYS H

IEfraT ThfEn ¥ uft | T srey-Sfdt
el &, 3T TR FIU o oI qoigd Herert
T AT ERAATHR B SId 71 T FUARG o
FHTEATA & -

(1) ot

(2) TUTTEART

(3) wotEd

(4) Tuigaaeq

few T HoEy yT fa=m witw -

(A) o0 ffeht 3 wawsama wnfia 21 2
(B) wrEreet # wiEqsl g g o oeasig
qsuee foe=ara

(C) gararti ot foweh sraeen

(D) ST THIUSHr F HHHT-d SSTue=ard|
3UUTH fohdd SUT wrsgH @IrsIH &k A H
acT /8

(1) Three (2) Four (1) d= (2) IR
(3) Two (4) One (3) a (4) TH
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115.

116.

117.

118.

ALLEN

Observe the given figure carefully and what is
the position of xylem in the vascular bundle in

given figure:-

TV ey

¥ o O
v

BD 9.«

(1) Abaxial

(2) Adaxial

(3) Either adaxial or abaxial

(4) Neither adaxial or abaxial

Select erroneous (wrong) pair ?

(1) Vallisneria - Pollination by water

(2) Embryogenesis - Post fertilization event
(3) Perispermic seed - Black pepper and beet

(4) Nucellar adventive embryony - Absent in

Citrus
Which of the following represents the basal
part of ovule ?
(1) Hilum (2) Micropyle

(3) Chalaza (4) Funicle

Select incorrect statement :-
(1) Wind pollination is common in grasses

(2) Self incompatibility is to prevent inbreeding

(3) In a typical angiosperm, embryosac is 7-celled
at maturity

(4) Generally in angiosperms, embryo

development preceds endosperm development

115.

116.

117.

118.

fog T ot 1 eargd st i o
faw T fom o doed g ° Swgaw H Rafa
AT -

TV ey

BD 9.«

(1) sTared

(2) *Tge

(3) TN T AT T

(4) T T 3T9AET T YT

T IH ol BT ?

(1) FfTGIRAT - ST SR GLATOT

(2) YOIIEa - wf TS BT

(3) ot st - =preft frel 7 g

(4) SSTUSHRE SFUTATE YU - few |
U

O

fafafaa @ st s & smadi v =
el srrarg 2

(1) isrerr (2) SSUEER
(3) Fam (4) sfiSveda
I HIH FH T -

(1) STt & S-SR ST &

(2) T A=A 37 IS (inbreeding) 3l ekl &

(3) URTEEdT O AT&Ueh STasisi § YorehsT 7-
ENINEIR RS

(4) WA HATEAsSTET § Yo qiee T § qo
0T 1 qiarel e &
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119.

120.

121.

ALLEN

Which one is not a property of active transport ?
(1) Highly selective

(2) Transport saturates

(3) ATP energy not required

(4) Requires special membrane proteins

Photon

SaPa Pigment
Sa (38 o= molecules

Choose the correct option for A and B in given

figure :-

(1) A-Primary acceptor, B-Reaction centre
(2) A-Pg, B-FRS
(3) A-Pgg, B-FeS
(4) A-Reaction centre, B-Primary acceptor

Mgtt
Pyruvic acid + CoA + NAD" Pyruvate
dehydrogenase

Acetyl CoA + CO, + NADH + H'

Choose the incorrect option for given reaction:-

(1) It is oxidative decarboxylation of pyruvic
acid in mitochondria
2) It is

respiration

part of pathway of anaerobic

(3) Itis part of pathway of aerobic respiration

(4) It is link reaction between glycolysis and
Krebs cycle

119.

120.

121.

7 o @ I O |fsh aitere o1 o7 e @ 2
(1) 3= IUICHeh/<ITcHS
(2) UiEeA dqH
(3) ATP 3Sif shl STTIHT 2T 2
(4) fafsre ferecfien M= Y Strageerar 2t 21
fou mu o & A @ B & fou @& foshew o
T i -
(1) A-grerfies urel, B-afsfsran ses
(2) A-P., B-FRS
(3) A-Py, B-FeS
(4) A-rfferam seg, B-grerfies ot
g-H-

Pyruvic acid + CoA + NAD" P tovas

dehydrogenase
Acetyl CoA + CO, + NADH + H"
& g srfuferan o fow 3T forepe &1 s L -

(1) I FABIOTHT H YT STFA hT SAToRshrt
[EEACIERIEZU R

(2) T AAIST FET % T T 9T 2|
(3) T AT G 3 IY T 9T 2

(4) TE TATSHIATIGT AT shel =gk i AlSTh
Frfarfsra )
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ALLEN

122. Which among the following condition is not 122. 7 o @ =9 @ g3 SRENEGEECE ER LY
responsible to favour decomposition ? e adi 2 2
(1) Aerobic condition (1) arrar feafa
(2) Low lignin content 2) IGISEEIETRIE)
(3) High cellulose content 3) W@Q@Hﬁw
(4) Less water content (4) SIS hT H T
123. Among the following taxa which one is facing 123. F=ramd ﬁl%h'@@ BN T T8 7 Tall 82
least threat of extinction ?
(1) Mammals (2) Birds (1) Tagr (2) u&h
(3) Amphibians (4) Gymnosperms (3) 3HT=R 4 STHTEETQ"HT
124. '"Rivet popper Hypothesis" is proposed by :- 124. <fae Oz gferedar fopaa geatfad 1 R -
(1) P. Ehrlich (2) E.P.Odum (1) . wetfets (2) %. . ofew
(3) R.D. Misra (4) R.May (3) o . s (4) A H
125. Which of the following is not correct for scruber ? 125. HISieh o foI0 51 & & o Bt IR 2 -
(1) Can remove SO, (1) SO, ! &1 Thal &
(2) Spray of lime water 2) @TWNW
(3) Discharge corona 3) IECEEEINE)
(4) Dirty air (4) &= 1Y
126. In India the air prevention and control of 126. 9rd ® RIREREM Ry wa e srfafay wa
pollution Act came into force in :- AT BT -
(1) 1982 (2) 1984 (1) 1982 (2) 1984
(3) 1980 (4) 1981 (3) 1980 (4) 1981
127. Choose the incorrectly matched :- 127. TTd e ﬁﬂﬁ(’ -
(1) Standing crop - Only inorganic materials (i) Gl wEd - Shaet ITehTelfeh TaTe
(i) Omnivore - Cockroach (ii) Tater] - faeraer
(iii) Detritivore - Earthworm (iii) ST - ST
Option : forpea
(1) 1iandiii (2) iiandiii (1) i3Miii (2) ii T iii
(3) Only i (4) Only iii (3) Fae i (4) Fae iii
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128.

129.

130.

ALLEN
128. A ¥ F JTHish ol GE=ITT S e forshed shl < :-

Identify the label A to F and select the correct option :-

Mean annual temperature (°C)

200 280 200 2380 400 450
Mean annual precipitation (cm)

T T T
50 100 160

Option :

(1) C-Alpine tundra (2) D-Tropical rain forest

(3) E-Desert (4) A-Conifer forest

Read the following statements carefully and
find the option which includes all the correct
statements:-

(A) ER helps in synthesis of protein, glycogen
and lipid like steroidal hormones in plant cell.
(B) ATP synthesis by oxidative
phosphorylation and photophosphorylation
occur in mitochondria.

(C) Nucleus is enclosed by nuclear envelop,
discontinuous double membranous layer.

(D) Cell membrane, ribosomes and flagella are
common structures which can be present in
eukaryotic cells and prokaryotic cells both.

(E) Content of nucleous remains continue with
rest of cytoplasm.

Options :

(1) A,C,DandE (2) A,B,Cand D

(3) CandD (4) A, CandD

Cell membrane of prokaryotic and eukaryotic
cells are :-

(1) Selectively permeable and permeable respectively
(2) Selectively permeable in both
(3) Living and dead respectively

(4) Permeable and living in both

129.

130.

C)

Mean annual temperature (*

50 100 150 200 350 300 350 400 460
Mean annual precipitation (cm)

(1) C-AIEAET  (2) D-IVrHRSY i
(3) E-9&&I (4) A-vigurl o=

7 Foml &1 MY afed qT 39 foshed &
=2 ferforar foram @it weg o aftafara @ -
(A) ER WIdH, TATShISH q9T IeT shifsremreal o
gwm@rﬁwgﬁ?ﬁwfimw
|

(B) SATHISRT WERINTHRTT qom YR
BT TRLUT o GRT HTSEIHTIISAT § ATP HogH0T
BT 2l

(C) Fseh, Sheseh AU § AENA BT @
3THq ared! fereet 9gva T gl 2

(D) hIfSThT foreeft, TsEm qur TR
SYANE WA Bl § S gehfaifesm  qen
TIehNTEeh ehif3Teht ST § SUfkerd g Hehd 2

(E) ohfrsehT o 79¥d Y HIRTH §T ° Tad
T 2

ey

(1) A,C,DTNME  (2) A, B,CaaD

(3) CdarD (4) A, CAATD
SIhTTEaR TT JohIATEH RITTRTSAT hT TR
forectt B @ -

(1) SRUST: IIHTCHe T QeI qIOTRT
(2) T T STCHe T

(3) FRERT: Sfad o g

(4) ST H YO a9 Sifad
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131.

132.

133.

134.

135.

ALLEN

Replication of DNA during cell cycle occurs in :-
(1) G, phase

(2) S phase

(3) Metaphase

(4) Telophase

Which of the following option is correctly matched :-
(1) Man - Diptera

(2) Housefly - Primata

(3) Mango - Sapindales

(4) Wheat - Musca

Which of the following statement is incorrect ?
(1) In slime moulds spores possess true wall

(2) Neurospora is used in biochemical and

genetic work

(3) Albugo causes rust disease in mustard

(4) Agaricus commonly known as bread
mould
Sexual reproduction is oogamous and

accompanied by complex post fertilization

development is character of which algae ?
(1) Red algae (2) Brown algae
(3) Green algae (4) Blue green algae

Fusion between one large, non motile female
gamete and a smaller, motile male gamete is

known as ....and present in .......

(1) Isogamous, Volvox respectively
(2) Oogamous, Fucus respectively
(3) Anisogamous, Volvox respectively

(4) Isogamous, Spirogyra respectively

131.

132.

133.

134.

135.

Ff31RT =15k § ST kT Sfaferdieor 2T ® -

(1) G, Sraeen i

(2) SUEETH

(3) AeATEReT H

(4) T=carerT

1 & & e fosheq Tt firem © -

(1) =737 - feren

(2) o Ao - ST

(3) W - AftFSed

(4) TE - 7

=T & O i e T T © 2

(1) e Fash o SISl § e T o
STt §

(2) ZERT F SWM S TEENE  q«Al
SIATRIEAT o STE T fofa STt &

(3) TeogEwE! | fohg T AT

(4) TIRFHTH FHC: IS Hies FHaT J1dl &

WAfT F97 HAUSLIHA qAT 3WEH @Y
Sfed vy fAvwT uftada e Qara =
G g 9

(1) et Staret 2) ol St

(3) Ta are (4) et eftd Qarer
S, SR HIGT sk qor Bie, Taiia T

IHF o ST G ..... FEATAT & TATTE ... )
Jufkerq BraT ® ;-

(1) SHHRT: AT, FTcTIF

(2) SHHST: VST, FHH
(3) SHHRT: STHHIHR, FIcTal e
(4) SHHST: TR, TTTETIRT
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ALLEN

( SECTION - B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

136. TH Morgan and his group while working on
Drosophila found that even when gene were
grouped on the same chromosome, some gene

were loosely linked and showed :-
(1) Absence of recombination
(2) High recombination
(3) Very low recombination
(4) Complete linkage

137. Choose the correct match with respect to biocontrol :-
(1) Lady bird - Mosquitos
(2) Dragonflies - Aphids
(3) Trichoderma - Against several plant pathogen
(4) NPV - Broad spectrum insecticide

138. Regulatory gene of lac operon :-
(1) Is a constitutive gene
(2) It provide binding site for RNA polymerase
(3) Is always found in the downstream to Z gene
(4) Has a binding site for repressor protein

139. How many plants in the list given below have axile
placentation in ovary :-
Pea, Moong, Aloe, Colchicum, Mustard, Onion, Asparagts,
Gloriosa, Soyabean, Tiifolium, Indigofera, L emon.
(1) Three (2) Four

(3) Two (4) Six

-

=l

.

@IS T 15 97 81 wameff 37 15 v 7 A A
Y 10 w2 X Gahar 21 Af qheeff 10 & Aftrem wx
T I AT & A & TR g I 10 I & AT

T s -B

J

136.

137.

138.

139.

NAH & AT I grFfbar ut & HIT 9T
7% qran o s & qurgs 9T Ruad & g of
FB Sl # R ggerrar gt S @, ¥w
Tt ® -

(1) it 1 st

(2) I=d TS

(3) Tga T

(4) of e

e o 3w # gRfera = Hifsr -
(1) TSEE - A=t

(2) TS - Ufthgd

(3) ZTEHISHT - JThi QY WIS o [T&EF
(4) NPV - forea wirgm e

A IATYTH T ATHR SO -

(1) o Fraie o &

(2) T STREAL TTARST oh Fol s Teret JeH T 2l

(3) TERIZ ST STEITE (downstream) HTRITSIRAT
(4) THTHRT T I S T TS LT ©

e &t 18 T ° © fora el  stvewm # st
ST gaT @ -

(1) @ (2) WX
(3) & 4) 3
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140.

141.

142.

143.

ALLEN

Epidermal cells, complimentary cells and

phelloderm cells are :-

(1) Vascular

(2) Sclerenchymatous

(3) Collenchymatous

(4) Parenchymatous

Approximate life span of crocodile is :-
(1) 45 years

(2) 60 years

(3) 20 years

(4) 140 years

What would be the ploidy of the cells of the

tetrad and nucellus, respectively ?
(1) 2n,3n

(2) 2n,n

(3) n,2n

(4) 4n,2n

Choose the correct option for essential minerals

in higher plants :-

(1) Phosphorus is a constituent of cell

membrane and cell wall
(2) Nitrogen accumulates in older leaves
(3) Sulphur is part of methionine amino acid

(4) Zinc is required for membrane functioning

140.

141.

142.

143.

Aferarefia FHIRTEHI, T HIRTHT T Hared 6l
HITRTERTE Bl & -

(1) Heed=

(2) gEmh

(3) TLARIONhHT

(4) HEThE

TR A /AT Sfia Tafer gt & -
(1) 4599

(2) 60a¥

(3) 2099

(4) 14098

=S Ud SSTUShE ol SRifRTshraa st Torar
SHAST: AT BT 2

(1) 2n,3n

(2) 2n,n

(3) n,2n

(4) 4n,2n

3= i UIeUl H A WS o U Hq&l
forehe ST =R AL -

(1) IEhILH, I3 fereetl qem snifsrerT faf =
Uh g

(2) ST iR H ATEZISH THA IdT
(3) T, Tl ST 3trer vt v R
@) foreeft i forameficiar 3 fore fSish e BT 2
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144.

145.

146.

147.

ALLEN

Which of the following cells have RuBisCo ?
(1) Mesophyll cells of both C; and C, plants

(2) Bundle sheath cells of both C; and
C, plants

(3) Bundle sheath cells of C; plants and
mesophyll cells of C, plants

(4) Bundle sheath cells of C, plants and
mesophyll cells of C; plants

Choose the correct option for given figure :-

(1) Relative growth rate of both leaves A and B is same.

(2) Absolute growth rate of leaf B is less than leaf A

(3) Relative growth rate of leaf A is more than leaf B

(4) Absolute growth rate of leaf B is more than leaf A

The relation between cattle egret birds and cattle is :-

(1) Commensalism
(2) Mutualism
(3) Parasitism
(4) Predation

Which one is the correctly matched :-

(1) Dodo - Africa
(2) Quagga - Russia
(3) Thylacine - Australia

(4) Steller sea cow - Mauritius

144.

145.

146.

147.

T & & it FfITRTe § RuBisCo TRITSITAT & 2
(1) C,Ud C, 9ty g oht qof qeafieeh i3
(2) C,Td C, el ST hl =58 HIRTR

(3) C, Wi T qeresg HIREY G C, Wi i
U hITIThTY

fog e ot 5 fore e e o ot
(1) Uit A qo B 3t A& fg 99§
(2) wlt Bl g afg ot AT wn g
(3) Uit A i U gig Ul B & 21w @
(4) i B T Frue gig ot A @ Il ®
aft ST S =0T 9%] # i 1 W BT S o
(1) deIfSrmar

(2) ERIIEHIRET

(3) uStferar

(4) wwferr

FT AT ael e g -

(1) SIEN - TR

(2) FA-FH

(3) oAt - sitegferam

(4) TR FHS T - WHRE
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148.

149.

150.

ALLEN

How many of the following are correctly
matched ?

(A) Anaphase I : Centromere division

(B) Pachytene : Recombination

(C) Prophase in plant : Astral ray formation

(D) Anaphase II : Segregation of homologous
chromosomes

(E) Anaphase : Centriole division

(F) Meiosis : Gametes formation in animals

Options :
(1) Two (2) Four

(3) Five (4) One

Which scientist showed that viruses could be

crystallised and crystals consist largely protein ?
(1) Stanley

(2) Diener

(3) Pasteur

(4) Ivanowsky

Which of the following statements are correct ?
(A) In gymnosperms ovules are not enclosed by
ovary wall.

(B) In gymnosperms the male and female
gametophytes do not have an independent free
living existance.

(C) Gymnosperms are homosporus.

(D) In gymnosperms roots are generally tap roots.

148.

149.

150.

e o o fopa ot e 2 2

(A) TZITere [ - U foreg forvaret

(B) TIIE T ; IS

(C) 9Tl # TR ; AR I fmior

(D) TSI 11 : FHSTT TOTEAT hT JAFHLT

(E) TSITaIET ; Ak Sheseh (TSt

(F) STEREI0T : STl | Freh fwfor

forea

(1) & (2) &”

(3) di (4) Th

forer SqTfeh 3 sy st e foreeetiona foma
ST EeHaT 2 T fohteed E&d: I o o+ 81d 8 ?
(1) &

(2) SER

(3) =R

(4) EHEEH

T g a4 P8 FaT T B 2

(A) Feread 7 s, ey fufw & g
Tt gu 72 2l

(B) Rrereas # X & wrar FHeIREE *T Faaa
gl STfedea TE granl

(C) freread wosfismors 2 2

(D) foreread & araraa: e, gHer e
gl

(1) Only A, B, C (1) &ad A, B, C

(2) Only B, C,D (2) FAB, C, D

(3) Only A, B, D (3) FFAA, B, D

(4) Only A, C,D (4) FIAA, C, D
| SAMPLE PAPER # 01 1001CMD302122001
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ALLEN

SUBJECT : ZOOLOGY

Topic : Full Syllabus

SECTION - A e - A
Attempt All 35 questions ¥t 35 w7 TfaE §
151. "Infected cell can survive while viruses are 151, <<Hshiid IRt ST & Hehell & Selfeh forsmupt
being replicated and released". T gfcerfaat s § oK wifaa gt 817 feam mar
Given statement is true for which cell ? o fore shifsrer & a3
(1) T-killer (1) S-A”H
(2) T-helper (2) A-TETH
(3) Macrophage 3) skt
(4) B-lymphocyte (4) sft-creienTy
152. Which of the following statement is false ? 152. 901 H O I9ET Y A © 2
(1) Cocaine has a potent stimulating action on (D) Tk Brald ARl ool UL STRER SE19eh 31T
central nervous system ST 2l

(2) Marijuana, hashish, charas and ganja are 2) ﬁﬁTz@TFIT , BT, =G S ST F9a7
derived from Papaver somniferum I3 T 979 2 2

(3) Excessive dosage of cocaine causes (3) IR st Tcafers ar=r ¥ foarym & 1
hallucination 2l

(4) Cannabinoids are known for their effect on (4) FACATSEH YR o Ga-aAT(GoRT o ol THTId
cardiovascular system of the body T 2

153.  Which of the following element is negligible in human | 153. 3 H & *hI78T qea A I H 197 &, W gl
body but present in large amounts in Earth's crust :- ARSI (ﬂfl‘flﬁ) TR 3Tfereh WA § SUfrd grar Rl
(1) Nitrogen (1) 4 QEjIEH
(2) Sulphur (2) "THL
(3) Silicon (3) fafeei
(4) Calcium 4) hieIam

154. Each protein is a polymer of ? 154, 9 T Teh SIgeleh H -

(1) Fatty acids (2) Simple sugars (1) TEHTFAT R (2) T THUAT B
(3) Complex sugars (4) Amino acids 3) STfeet st s 4) ST 3TFcAT T
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155.

156.

157.

158.

159.

ALLEN

Arachidonic acid and palmitic acid have total

number of carbon atoms respectively are :-
(1) 16 and 20 carbons
(2) 20 and 16 carbons
(3) 16 and 16 carbons
(4) 20 and 20 carbons

Which one of the following technique is

include in-vivo fertilization.
(1) ZIFT (2) IUT
(3) ICSI (4) GIFT

Which of the

unsuitable for implantation.

following makes uterus

(1) Progestesert
(2) Multiload-375
(3) Cu-T

(4) Lippes loop

Which gland's secretions help in lubrication of

penis:-

(1) Seminal vesicle

(2) Prostate

(3) Bulbourethral gland

(4) Bartholin glands

In oogenesis process meiosis-11 complete.
(1) Before ovulation

(2) Before puberty

(3) After completion of fertilization

(4) After entery of sperm in ovum but before

completion of fertilization

155.

156.

157.

158.

159.

fReiieh 3TFeT T UTfifeeh 7 | fohde STl
TRHTY Bl & SHH: -

(1) 16 qUT 20 FTeT
(2) 20 T 16 I
(3) 16 TAT 16 FTeT
(4) 20 YT 20 T

71 o @ Fiet U aeies Siia = § aftafed
2

(1) ZIFT (2) IUT
(3) ICSI (4) GIFT

e § @ =g TR & quor % o e
ST

(1) TeEeHe

(2) TeAE-375

(3) Cu-T

(4) famay

forer tieft o & 39 & TeT U Heg d © -

(1) Iph

(2) ez

(3) Sy Tt

(4) el Teft

HUSSH SThAT o6 SR STEET fordTo-11 T 8T 2 -
(1) oSt ¥ &

(2) dreTeEen | &

(3) o= oot 8 o gaTd

(4) IFRIO] % SUSIO] H eI o G2Td 9] o=
SRR
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ALLEN

160. Normal breathing rate in human being is :- 160. I GdTa &, " T B R -
(1) 12-16/min (2) 35-38/min (1) 12-16/min (2) 35-38/min
(3) 100-120/min (4) 80-100 min (3) 100-120/min (4) 80-100 min
161. Pneumotaxic centre is present on :- 161. m@%&mﬁé@m%ﬁm% -
(1) Pons (1) ar=g
(2) Cerebrum (2) yaiash
(3) Midbrain (3) weAHRash
(4) Cerebellum (4) Gﬂﬂﬁ?lﬁﬁ
162. Atherosclerosis is called :- 162. TRRIRFeRIE (TfedeniseT) =i Fed  :-
(1) Heart failure (1) BT UId (Heart failure)
(2) Angina pectoris (2) &R A T (Angina pectoris)
(3) Coronary artery disease 3) & T T
(4) Heart blockage (4) TS scAfohst
163. Impulse of heart beat originated from :- 163. Wﬁwﬁﬁdﬂﬁ ST ST Fel Y ST BT S -
(1) A.V.node (1) wef. e
(2) Bundle of His (2) dea AT &=
(3) S. A.node (3) TH. U e
(4) Purkinje fibres (4) TRt % dq
164. Walls of blood vessels and air sacs of lungs are 164. T atiet I AR I Sl & a@w CE)
made up of :- AT -
(1) Simple squamous (1) O STeeht
(2) Simple cuboidal (2) G YRR
(3) Simple columnar (3) O TR
(4) Compound epithelium 4 FI'{ID?FWT
165. Dental formula of human adult is :- 165. II&H AT i 39 frama gran & -
niEe Mo R0 | o e B 2
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166. 166.
Identify A, B, C, D respectively in given diagram:-
(1) A = Serosa, B = Muscle, C = Submucosa, (1) A =ﬁ|’ﬁ'&ﬂ, B =a32'ﬁ, C =F|HW§%’FIT,
D = Mucosa D= rqgﬁ'{:ﬂ
(2) A = Submucosa, B = Mucosa, C=Muscle, 2) A= wmgﬁw, B= mgﬁw, C =ﬁ'-‘é'ﬁ,
D = Serosa D = f&rar
(3) A =Mucosa, B = Submucosa, C = Muscle, 3) A= mgﬁw, B= wmgﬁw, C= ﬁ'&'ﬁ,
D = Serosa D = femn
(4) A = Serosa, B = Submucosa, C = Muscle, 4) A= faen, B =143|'F<’13|5T{3|T, C = uxft,
D = Mucosa D= Wjﬁ'{:ﬂ
167. Intrinsic factor secrete by which cells :- 167. =<1 SR ol FTTd i el FHINTHR & -
(1) Mucus neck cells (1) =g Hian iR
(2) Peptic cells (2) uftess FHifsrrrt
(3) Chief cells (3) HEA HIfHR
(4) Oxyntic cells “4) Affodf-ceh iRl
168. In averages of urea is excreted 168. 3ftaad yfdfe ?lcf(qT HT S
out per day. BT 2l
(1) 1-1.5gm 2) 1-1.5mg (1) 1-1.5gm 2) 1-1.5mg
(3) 25-30 gm (4) 25-30 mg (3) 25-30 gm (4) 25-30 mg
169. Between atlas and axis which joint present ? 169. TZH 3R Ul o st shiefl Gy gt 2 2
(1) Fibrous joint (1) wiFse
(2) Cartilagenous joint 2) IUTRY S
(3) Hinge joint (3) ol Gl
(4) Pivot joint (4) g Et
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170.

171.

172.

173.

174.

ALLEN

Thorn of Bougainvillea and tendril of cucurbita

are example of ?

(1) Homologous organs
(2) Analogous organs
(3) Vestigial organs

(4) All of these

During his journey Darwin observed an
amazing diversity of creatures small black
birds later called Darwin finches. These variety

of birds were observed on which Island.
(1) South Africa

(2) South America

(3) Galapagoes

(4) Australia

Which of the following cuts the DNA from
specific places ?

(1) Ligase

(2) Exonuclease

(3) Eco-Rland Bam I

(4) Alkaline phosphatase

Gene therapy was first of all used in :-

(1) 1970 (2) 1990
(3) 1980 (4) 2000

DNA Ligase is an enzyme which catalyse the :-

(1) Splitting of DNA into fragments

(2) Formation of phosphodiester bond between
two DNA fragments.

(3) Denaturation of DNA

(4) Synthesis of DNA

170.

171.

172.

173.

174.

SANECET H HET d FHLe
ISR 8 :-

EIRGIE]

(1) |HsId 3T
(2) W A
(3) 3raTet 3T
(4) STk it

gE A % A e T B e
fafearan i smedse fred 2 g sre &
erfa Tt sher war fufsaren &t 3 fored v
T T e TS 2

(1) afagor sTshieht

(2) af&ror ot

(3) T

(4) eTregferar

= & @ #97 USEH DNA 1 fafirs Toredt

HTEATE ?

(1) drgis

(2) THE(RATS

(3) Eco-RI3R Bam I

(4) TTHATST HIEHSS

ST Ferferce T Herl Teet ST g o -

(1) 1970 (2) 1990

(3) 1980 (4) 2000

DNA TSIl e USTTEH & ST ICI0T 3hLell © -

(1) DNA &I B¢ @Uei H qreT

(2) DNA % 31 @USI THST o siid HIEHISIFEX
sty 1 famfor ST

(3) DNA 1 farehfcertor

(4) DNA T eyl
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ALLEN

175. The pair of disarmed vectors used for gene 175. 3TET-hTeh aTEeh T SIK] S SHES: gredr Y
transfer in variety of plants and animals are faftr yenfaa o Glr_gr(%ﬁ T ST TR &
respectively. T ST BT -

(1) Tiplasmid & Ri plasmid (1) TiTeag 3R Ri wTivag
(2) Tiplasmid & Retroviruses (2) TiwTsug 3R figema
(3) Tiplasmid & Taq polymerase (3) Ti ATfeaS 3R Taq LISiEES
(4) Retroviruses & Reoviruses 4) ﬁ‘@amrésr SR IEIDIC ]

176. Water transport or canal system is present in :- 176. STeT afiae AT Ared-a= I AT ® ;-

(1) Sponges (1) TSt &

(2) Coelenterata (2) Fretrgerd

(3) Echinodermata 3) gHTSISHeT 4
(4) Both (1) and (3) (4) (1) (3)cETH

177. Which of the following is a flatworm :- 177. FEfIRed 5§ S 9T HH B -
(1) Fasciola (2) Ascaris (1) ST Q) THRT
(3) Nereis (4) Hirudinaria (3) g (4) gefearar

178. Air bladder is present in :- 178. W@ﬁﬂﬁ‘iﬁﬂ% -

(1) Pristis (1) Yifeq &

(2) Clarias (2) FARFF |

(3) Pterophyllum 3) B3 T

(4) Both (2) and (3) (4) (2)T () ATH

179. In cockroach, a characteristic mushroom shaped 179. ﬁlﬂ%@ ) Teh fafsre SaeRedt Tfsr 3et & fora @?ﬁ
gland is present in which abdominal segments ? T T BT 8 2
(1) 6™and 7™ (2) 3"and 4™ (1) 6"wg 7™ (2) 39ud4h
(3) 4™and 6™ (4) 5™and 6™ (3) 4™ ud 6t (4) shud et

180. Male frog can be distinguished from female 180. R g ! HIGT Hgsh © fehaehl Suftufa & e
frog by the presence of :- U 37T TSRt ST Tk © 2
(1) Vocal sacs (2) Copulatory pad (D) 3135@13[ 2) ﬁ?\HFT
(3) Cloaca (4) Both (1) and (2) (3) 3TIERT (4) (1) W& (2) 3T
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181. Forebrain consists of :- 181. TmRkASh ST BT © -
(1) Cerebrum (1) olsm
(2) Thalamus 2) DSt
(3) Hypothalamus (3) TENIATH
(4) All of these (4) Uk auft 1

182. The diameter of the pupil is regulated by the 182. U{\ﬁ?’f % = 7 Fror foRaek Ut ﬁ@ ERUEE
muscle fibres of :- 27
(1) Iris (1) 3msiE
(2) Choroid (2) HREE
(3) Cornea 3) SHifar
(4) Retina (4) Y&

183. GnRH is the hormone of :- 183. GnRH EHH ? :-
(1) Anterior pituitary (1) I tﬁ'ﬂgah"[
(2) Posterior pituitary 2) 9 Qﬁ'qc\'q Ea
(3) Hypothalamus 3) TENIATY T
(4) Pineal 4) Toferer =1

184. Glucocorticoids stimulates :- 184. ‘M“%I%Tl?omss T 2 -
(1) Gluconeogenesis (1) Eﬂfﬁﬁ'ﬂﬁﬁﬁﬁ'ﬁ‘eﬁ
(2) Lipolysis (2) TET IIE hl
(3) Proteolysis 3) T STTET T
(4) All of these (4) SUUE axft 1

185. (A) Produces anti-inflammatory reactions 185. (A) gfcremer gfafsramett =t i T R
(B) Suppresses the immune response (B) gfererT =t Y wicrfsrar st STaiferd star &
(C) Stimulates RBC production (C) =l IR HIUTERTST o ScqTe @t I FAT
The above statements are true for which hormone ? SHIRh FHU fohd ETHI oh foTC Tl & 2
(1) Thyroxine (1) DIUEE]
(2) Melatonin (2) HATT
(3) Cortisol (3) wHitdarT
(4) Aldosterone (4) TSIl
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SECTION - B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking. )

186. In which of the following disease genital
organs are also often affected, resulting in

gross deformities ?
(1) Ascariasis
(2) Filariasis

(3) Amoebiasis
(4) Typhoid

187. Read the following statements carefully and
find out the incorrect set of statements :-
(a) Plants require insulin hormone for sugar
transport and regulation
(b) A nucleic acid containing deoxyribose is
called DNA
(c) Starch is present as a store house of energy
in plants as well as in animal tissues
(d) If a DNA strand starts from 5' then it may
end into 5' or 3' both directions
(e) The living state is a non-equilibrium steady
state to be able to perform work

(1) b,a,d
(3) e, d,b

(2) c,a,¢
(4) a,c,d

188. Which of the following hormone is responsible
for strong uterine conraction lead to expulsion
of the baby out of the uterus through birth canal.

( g e -B

@IS T 15 97 81 wameff 37 15 v § A A
Y 10 w2 X Hepar 21 Af whemeff 10 & ftrem wx
1 I AT & A oA TR g IO 10 I & A=

ull
(S J

186. f=1 o @ fopm o o SAfAes 3 oft SR
TuTferd B ST & 9T 38Rt ave & 9 foeuard
AT R 2
(1) Uehiafem
(2) wrsaifCfeE
(3) oTHifefw
(4) TEHISS

187. THfARGd el Sl CAFYHS TeH Tad HMI
ST FHE T A -

(a) UTEUT S IERT T qor FrmT & o
SHICH ST shl SISl 2l 2l

(b) T =fereh 7T foreH feaiTafisaiist 8T &,
DNA HEeTdT 2l

(c) UIGHl QT Siq el H W€ (HS) Tt
TUET ST 2

(d) af& TH DNA %1 5] 5' & YR 2ar 2, a1 98
5' 7S 3' ST W GHTH &1 Tkl 2

(e) TSI STEAT T JFaTFTae, feor svaeen it

FuTiet © foraw sfia el & o fort v gran 2
(1) b,a,d (2) c,a,e
3) e, d, b (4) a,c,d

188. T+ H & shi=rer BIHIA v H e dpe % fog
SPeR & fSreeht a8 & S A1t § giar gt Ry
Wﬁaﬁ'{w%:—

(1) Progesterone (2) Relaxin (D) SIS TRiE 2) feifer
(3) Oxytocin (4) HCG (3) A (4) HCG
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190.

191.

192.
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Partial

atmospheric air and tissue respectively :-

pressure of oxygen in alveoli,

(1) 40,159, 45 (2) 40,0.3,45

(3) 104, 159, 40 (4) 104, 0.3, 45

Erythroblostosis foetalis can be avoided by
mother using which one option, after delivery
of first child :-

(1) Steroid

(2) Rh Antigen

(3) Antibiotic

(4) Anti Rh antibody

Conditional reabsorbtion of Na® and water

takes place in which segment ?
(1) PCT

(2) DCT

(3) LOH

(4) Bowman's capsule

Identify the given diagram :-

S N

N

N ]
k‘/ I =

— — <
V\Ufﬁif%\&:_g =
S=—— &

(1) Loose connective tissue
(2) Specialised connective tissue
(3) Dense regular

(4) Dense irregular

189.

190.

191.

192.

A & HAMRE @ w1 AH R,
ARSI T AT Fieh  FHETTEN BT 2 -

(1) 40,159, 45 (2) 40,0.3,45
(3) 104, 159, 40 (4) 104,0.3,45

siNeareiftE fhefere @ s= & fag orar ==
AT foehed, IUANT HET ATRT UEd s o A
Q-

(1) IS

(2) RhEdsa
(3) temities
(4) W2 Rh ufceeft

fafire aftRurfkrt § Na® ST STa a1 eRISor
forg T H ST 8 2

(1) PCT

(2) DCT
(3) LOH
(4) ST HY

(1) ST dIS ik

(2) TaffEsa st sas
(3) gua fafa

(4) wo At
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193. Auto immune disorder of neuromuscular junction is :- 193. dfreRt Uil @t & wrafrera wowfaef fomr 2 -
(1) Myasthenia gravis (1) vt afem
(2) Muscular dystrophy () %rsﬂagsq‘rw
(3) Gout (3) T3
(4) Osteoporosis 4) ey gﬁ'{?ﬂ
194. Tasmanian wolf, sugar glider, Marsupial mole, 194. Fl"x:ﬁl'l'ﬁl'el'l'sc ﬁ'%?ﬂ, MET Tlgsy, q‘l’ij)ﬁ'ﬁ?f Iﬁ?f,
Koala, Wombat, Tiger Cat, Marsupial rat, 3T T, Eﬁta?f, A ERIEE %, trrgﬁa‘a 3\?.', HE,
Kangaroo, Mole, lemur. tﬁFT, 1L
How many of animals given above are STk o T Sfiai ¥ @ foraa ET@'%I’&T-T |§IQQ|%1 g
examples of adaptive radiation in Australian ﬁﬁw farfertor o SeTeEr 2
marsupials.
(1) Five (2) Six (1) dr= Q) 3
(3) Seven (4) Eight (3) 9rd (4) A
195. E. colibacteria used in the production of :- 195. % @icrs WWW’TW 3cATET B A @ -
(1) Rifampicin & LH (1) frerfeafem it LH
(2) Ecdyson & LH (2) TFESRIEH 3R LH
(3) Humulin & Interferon 3) Eﬂﬂﬁ'—[ ST 3T
(4) Rifampicin & Ecdyson (4) Tomfrafem it wreme
196. The proteins which are encoded by the genes 196. St Wi\ ST R 1 Ac 9 %S 11 Ab gRT
cry [Ac and Cryll Ab. They are responsible for ECAES qd 8 F e 9 9 fohwmes e & fae
controlling which of the following ? fSTFHER 22
(1) Roundworm (1) TR
(2) Moth (2) H
(3) Cotton Bollworm (3) U STcTRH
(4) Fruitfly (4) BoHFE!
197. Which of the following set of animals belongs | 197. #I48¥ SqAl F ¥YE TH & € ¥ Y
to the same phylum ? TG ® 2
(1) Crocodilus, Naja (2) Corvus, Elephas (1) shichISTSeTd, ATST  (2) FE, TThd
(3) Clarias, Trygon (4) All of the above 3) FAN, g ST 4) 3IULE Gt
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Read the following statements (A-D) :-

(A) Cockroach is dioecious

(B) A single spermatheca is present in the 6
segment which opens into the genital chamber
(C) None of the species of cockroaches are
wild

(D) Each compound eye consists of about 200
hexagonal ommatidia

How many of the above statements are correct

regarding cockroach ?
(1) Four (2) Three
(3) One 4) Two

Which of the following protein of SARS-COV-

2 allow them to penetrate human cells ?
(1) Membrane protein

(2) Envelope protein

(3) Neucleocapsid protein

(4) Spike protein

Covaxin is developed by :-

(1) Oxford university

(2) Serum Institute of India

(3) Bharat biotech

(4) Astrazeneca

198.

199.

200.

fFreafafaa wui & afew (A-D) :-

(A) faer=rgr wafe grar 2

(B) ®3 @S ¥ THA [HAT Bl g, S
ST FHE | gard! 8l

(C) faerarst & &g ot siref Strfoat & &t
2l

(D) YcI% ©I® AF H AMHT 200 GHUMA
EEIM R T ]

3IUUH w1 ¥ faa=g & @ ¥ frad gt
22

(1) IR (2) 4

(3) T @ @

97 5 ¥ SARS-COV-2 I el W& 3¢ 77
1 IR T A H ek el & 2

(1) foreeht o=

(2) TS (TaAd TIEH)

(3) AfIAHES T

(4) TTEH N

il forenfed AT TS R -

(1) AeEwe faafme g

(2) ¥R\ eI HTE sfean g

(3) YR ST gRT

(4) RIS g
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